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Question No : 1

Amanagerasksanadministratorifit’spossibletoknowwheninfrastructurecomponentsinthecloud
willrunoutofcapacity.WhichvRealizeOperationsSuperMetricbadgewouldallowthemanagertot
heremainingcapacityandtimetoexceedcapacityforthesecomponents?

A. Risk

B. Health

C. Performance
D. Efficiency

Answer: B

Question No : 2

Which VMware product will help ensure the most appropriate operating
system,amountofstorageandnumberofvCPUsareassignedwhencreatinga vApp accordingto
a givenbudget?

A. vRealize Orchestrator
B. vRealize Operations
C. vRealize Business

D. vRealize Automation

Answer: B

Question No : 3

A companyhas a multi-tierapplicationand needsa deploymentsolutionthatwill
takeintoaccountCPUandmemoryrequirements,whileensuringthatthesecurityofeachworkload
can be protectedusingdynamicfirewalls.Which two products will meet the company's
needs? (Choose two.)

A. vSphere Replication
B. vRealize Automation
C. vRealize Operations
D. VMware NSX
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Answer: B,D

Question No : 4

A

companyhasexperiencedsignificantgrowthoverthepastyearandneedsamorestreamlinedmeth
odofdeployinglargenumbersofvirtualmachinesandvirtual networks.Whichtwocomponentscan
beimplementedwithinthecompany’svirtualenvironmentto accomplishthistask? (Choosetwo.)

A. vRealize Automation
B. vCloud Air

C. VMwate NSX

D. vCenter Operations

Answer: B,C

Question No : 5

As partof
settingupacompany’sdisasterrecoveryplanapOrojectmanagerhasidentifiedtheneedtosynchro
nizestorageusedbythevirtualmachinestoaremotedisasterrecoverysite.Whichproductorcompo
nentcanbeusedtoperformthistask?

A. vRealizeAutomation
B. vCloudConnector
C. DatastoreClusters
D. vSphereReplication

Answer: C

Question No : 6

A managerwants to know why traditional usage metering tools are less effective in a private
cloud environment thantheyareinphysicalenvironments.Whatstatementprovides the best
response?
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A. Traditional monitoring tools won't work in a cloud environment.
B. Traditional metering tools require agents to be installed,
whichdon’tworkinvirtualmachines.
C. Resource usage is based on the overall demand of all virtual machines instead ofper
server.
D. This is not true, traditional usage metering tools are still the best choice.

Answer: B

Question No : 7

Which vRealize Automation feature provides companies a lot of
flexibilityinusingtheirowncustomizedservicepoliticsandbusinesslogic?

A. Accelerated application deployment
B. Intelligent Resource Governor

C. VMware vRealize Orchestrator plug-in
D. Self-service end user portal

Answer: B

Question No : 8

A company has decided to move to a hybrid cloud environment.They are concerned that
this may increase management complexity by requiring multipleinterfaces.Which product
provides a single interface for all virtual machines within a hybrid cloud environment?

A. vCenter Server

B. vFabric Suite

C. vCloud Connector
D. VMware NSX

Answer: C

Question No : 9
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